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Instructions :

76830

There are seven questions in all
in this question paper.

All questions are compulsory.

In the Dbeginning of each
question, it has been clearly
mentioned that how many parts
of it are to be attempted.

Marks allotted to each question
are mentioned against it.

Start from the first question and
go up to the last question. Do not
waste your time on the question
you cannot solve.
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Write the solution on the pages of
both sides of answer-book. Write
the steps of solutions of all
questions except Question No. 1.

If you need place for rough work,

do it on left page of your answer

book and cross ( x ) the page. Do
not write the solution on that

page.
Do not rub off the  lines
constructed in a question of

construction. Do write the steps
of construction in brief, if asked.
Draw neat and correct figure in
solution of a question wherever it
1S necessary,
absence the solution will be
treated incomplete and wrong.

1. mﬁ@v:c:ﬁi\?rq _
Tk @us § 3w ¥ o 9w faeen A m E
i & ac T el &) Wel faehed sieat
3 2 IER-yiEaeRt 7 foifian -
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i) g-1 i) g+ 1
i) 2qg iv) 2gq+1 1
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FEI x-3787 W &= gy
) (=7,0) i) (-6,0)
iii) (—2,0) iv) (2,0)

1

T THEY i\5|‘13i-l 7 W.ﬁﬁlﬁ 9:4%%
IFUE A g1 o & Syt =

) 2:3 i) 4:9

iii) 81:16 iv) 16 : 81
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i) 6—;@*:& i) 26
iii) -@Si@ﬁ’r iv) 19 Q|
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9) n DN @ AT x ¥ AR TS HUET

FT @ ¥ SoT KRG S ar 79 =W g
) x +a i) x+a/2
iii) x — a v) x-a/2. 1
Do all the parts :

Four alternatives of the answer of each
part are given, out of which only one is
correct. Pick out the correct alternative
and write it in your answer-book :

a) For any positive integer g, every

positive even integer will be in the

form
) g-1 i) g+ 1
i) 2qg iv) 2g+1 1

b) The point on x-axis, which is
equidistant from:- the
A(2,-5)and B(—2,9), will be

i) (-7,0) i) (-6,0)
iii) (-=2,0) iv) (2,0) 1

c¢) = The corresponding sides of two
similar triangles are in the ratio
9 : 4. The ratio of areas of these

triangles will be

ij 2:3 i) 4:9

iii) 81 :16 iv) 16:8l1 1
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d)

6
2a_1 .

If cos 6=, the value of sin?g w;
be
L1 ... 3
D7 n 5
1 - 1
1) — v Y

7 AR
In the figure, the perimeter of

sector OAB will be
B

i)

1) — cm iv) 19 cm. 1

The mean of n observations is x.

~ If every observation is increased by

76830

a , then the new mean will be
i)y x+a i) x +a/2

iii) x — a iv) x-a/2. 1
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2. |V @EvE T
%) e 4, DE||AC @TDFHAE%I

7 E C

& BF _BE
g Eﬁ‘rﬁﬁ'q' 225 _ 1
FE EC. .

) Ak sm(A B)—— 3R cos(A+B]-
0°<(A+B)s90°, A> B, FﬁAaﬂT

, B 3 hifsTg | |
1)) @WW%aﬁg#}wﬁﬁﬁ

froae 28 {9 AR 7 I & IR St

%I R 45 ¥ & A 5 F aiar w=

) . 1
=) fyefefad IReERer ST &1 agasﬁ BPT.
T HIT : |
N —— 0-4 | 4-8 | 8-12
aﬁam ‘ S 7 9.
12-16 | 16-20 20-24
17 12 10
_ 1
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2. Do all the parts :

a) In the figure, DE || AC and
DF | | AE.

A

B F E C

BF BE
P )
rove that —— TE =~ ZEc 1

b) If sin(A- B)—i and cos(A+B)=1
0°<(A+B)_<_90°, A > B, find
Aand B. ' 1

¢} The radii of circular ends of a
conical bucket are 28 cm and 7 cm.
If the height of the bucket is 45 cim,
find the capacity of the bucket. 1

d) Find the modal- class of the following

frequency distribution :

Class-interval 0-4 | 4-8 8-12

Frequency 5 7 a9

12-16 16-20 20-24
17 12 10
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3. 9 @vs Sifey :
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P(-3,p), fOgeit A(-5,-4) 3R
B(-2, 3) & e el ¥@r@avs ol
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3. Do all the parts :

a)

b)

76830

Prove that f3_p is an irrational

number. 2

The difference of two numbers is
26 and one number is three times

the other number. Find the
- numbers. 2
®OF [ Turn over
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c)

o)

76830

Find the ratio in which the Point

P(- 3, p) divides the hne SeRment |

joining the points A(-
B{(—-2, 3). Find the value ofp also,

2
The radius of a metallic solid sphere

is 3 cm. It is drawn into a long wire

of 0-4 cm diameter having uniform
cross-section. Find the length of the

—4) ang |

wire. 2

4. |t @UE ST - v |

180
A STl He ¥ | T aataw
fouem v ufelm g 13 &

Iﬁx—?.ﬁ?ﬂx-ii%?ﬁ'kerﬂ?m$

f

HF T ShifeTg 5 |

I &g A (

C (6, 7)14%@%311&:@%3116

I | 2
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fax °, OACBO F= O 3R B
3.5 ¥ At wH gd B G g1 AR
oD = 2 ¥N 2, O wEiled GFT H
SIS T HITSTT | |

2

4. Do all the parts :

a)

b)

76830

Without  performing the long

“division procedure show whether

66
180
terminating decimal or non-
terminating repeating decimal. Find

the ratiqnal number is

decimal expansion of 13 without -

125
performing actual division. 2
If x =2 and x = 3 are the roots of
the quadratic equation
3x? — 2kx+2m =0, find the values
of kand m. ' 2
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If the points A (2, 3), B(5, k) and
C ( 6, 7 ) are collinear, find the
value of k. 2
In the figure, OACBO represents 5
quadrant of. a circle of radiys
3-S5 cm with centre O. If OD = 2 cm
find the area of sl}aded portion. ’

2

Tt Tl R femed e e grieon
@ 3x-y=2 3R 9x-_3y=6 %
FA=IA: 3 BA &) 4
7-8 Wl 7= T@r W 3 : 4 F oud d
Fa:faaisa ST = = sifas ot
ﬁf_"‘ql ’ 4
(i) |

cos 58° cos 38° cosec 52°
2( sin 32“)_J§[ tan15°tan 60° tan'?S"} '

T GIA HT | 2
'..F'
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(ii)
tanl®tan2®tan3°...tan45°...tan88° tan89°.
T HH TI9 iRy | 2

W Efefea ot Rt dees %
25@3@#%@@2‘%&7@@

- 822(AX) 14

c) (i) Simplify
2[ c?s 58“)_\/33—[ cos 38° cosec 520 ) |

sin 32° tan 15° tan 60° tan 750

: 2
(i1) * Find the value of

tanl®tan2°tan3°...tan45°...tan88° tangQge .

2

d) The following table shows the daily
expenditure on food of 25 families in
a locality : https://www.upboardonline.com

Daily expenditure

9Tt ®
3 = (Bo | 100-150 | 150-200
IREaRT = G 4 5"
200-250 | 250-300 | 300-350
12 2 3
wg foeem o FRT NI W 3T if
=] ST A HTE PR | N 4

S. Do all the parts :

a) Show, by graphical method, that
the system of linear equatlons

3x—-y=2 and 9x-3y =6
has infinitely many solutions. 4

b) Divide internally the line segment
of length 7-8 cm in the ratio 3 : 4.

Give justification of construction
also. 4
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100-150

150-200

(in Rs. )
Number of families 4q 5

200-250 250-300 | 300-350
12 2 2

Find the mean of daily expenditures
on food by step deviation method. 4

6. [t @ug Hifs -
B . o

2 x? —8x+3=0 &% O TS &1 TR

dan &, A el R of w AR 4|
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. _ ) b) The angles of elevation of the top of
o) frdl fIAR & AUR ¥ T & W 3@ o a tower from two points A and B at
a 9 b O W | I fagst A dlistances a fiin‘.i btfom the base of
| the tower and in e same straight
B 9 3@ W HAR & f‘s?@?‘ck IFIT line with it, are complemen
FIT TH g & HifeRs &1 fag wivwg Prove that the height of the towcr
for 7FR * S Jab T | is va
af o ':i’r tﬁ%r—ﬁ Ifa-—18mandb=32m,ﬁndthe
a= 18 HI T4 b = 32 , @ HiAR height of the tower. 4
W FE TG ST _ 4 c) A toy is in the shape of a cone of
radius 3-5 cm mounted on a
M wE fEeE B s & E"ﬁ kS W. hemisphere of same radius. The
F AR H T, | 3§ T O uw total height of the toy is 155 cm.
: N o &) =@ ﬁg’f‘-ﬁﬁ . Find the total surface area of this
toy. 4
:gnlo’r e 15- 5 @Iﬁ‘ T EL F@Fﬂ# hT d) Find the median from the following
ot ydig gheT W wIvTET . 4 table :
_ _ Mark ,
") - Fafeiaa Rt @ A wa st - obtained 10-15 1 15-20 | 20-25 | 25-30
. _ _ N - Number of
*;m?rm 10-15 | 15-20 | 20-25 | 25-30 Studente 5 6 10 15
i st §=m| 5 6 | 10 | 15 o
— 30-35 | 35-40
30-35 35-40 9 5
9 S | . 4
4 ot g Hifse
6. Do all the parts : ' 7

a) Determine whether the quadratic

s 3 .2 _
equation —x“ —-8x+3=0 has real .
9 4 _ - 10 B 3R 37 9™, O 93
roots. If so, find the roots also. 4
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fHem o/t Qal = 9= H 1 ki HEr &
STl @ | ST sl W& 1 ST | 6

SOC

oy L1 11
x+4 x-7 30’

x# — 4,7 ! FA DI | | 6

@ i T3 # -3k aAaB1BCc 3R
DE 1 AC, @ fTag =fvuw &=

AABC ~ AAED. |

B =~c -
- 3
i) e H, ABC & Byaw ¥ aw

ZA=90° T AD L BC ¥ fag
Fise 6 AD?=BD.CD.
A

D - 3
Aqar
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i) ww wHEE Bops A, fes wif R
oF W F T H A T v
it o SO F T F AR T %
. TR B ¥ 3

hii) o #, APQR &I ST PR T

QR W W= s aa1 T % =i

LP=«RTS, o fag =fGu &
ARPQ ~ ARTS.
P

Q

7. .Do all the parts :

a)

76830

300 apples are distributed equally
among a certain number of
students. Had there been 10 more
students, each would have received
one apple less. Find the number of
students. 6

OR
®OF
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Solve the following equation :

11 11
x+4 x-7 30’

xX#* —4,7. 6

b) i In the figure, if AB 1 BC
and DE 1 AC, prove that
AABC ~ AAED .

A
00D
D
90
B C

3
il) In the figure, ABC is a
triangle in which ZA=90°
and AD 1 BC. Prove that
AD?=BD.CD.
A

OR
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ii)

20

In an equilateral triangle, prove
that three times of square of
any side is equal to four times
of the square of its any altitude.

3
In the figure, S and T are points
on the sides PR and QR of
APQR. If ZP=/ZRTS, prove that

ARPQ ~ ARTS.
P

822(AX) - 3,20,000
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